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Formulas for Compufation

For the text discussion of each fohnula, refer to the page number at right.

Binomial Probability
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- Mann-Whitney U Test

McNemar Test

Mean

© One-Way ANOVA:

Correction Term for the Mean
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Formulas for Computation

.(Continued from front endleaf.)
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-Test of Constant
- Test of a Correlation Coefficient

Test of the Difference Between
Regression Coefficients

Test of a Regression Coefficient

Test of Two Independent Correlations

Test of Two Means

Two-Way ANOVA:
S8 Interaction
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